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Jason's Necklace

Youwill need.  E beads with large holes or any large holed bead for
spacers.... .2 complimentary colors of 110 beads. bead tips and a clasp

1. Thread your needle with enough thread to equal 4 times the length of your
necklace plus 8-10 inches for weaving and tying the tails baclk in.

2 thread on a stopper bead with a hole large enough to accept 4 passes of
thread. .1 bead tip... start striinging the necklace with 1 large bead... 4
To's.Tlarge 4 110's . tillyou have the length you want ending with 1
large bead.

3 thread ona beadtipand 1 110 go back thru the bead tip and the 1st
large bead.
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4. add 4 110's and go thru the next large bead...add 4 more 110's and go
thru the next large bead.... continue this to the end of necklace ... .go thru
bead tip and turn around bead... back thru beadtip and 1st large bead.
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Sonow it's time to change colors.string ond 11o's inyour second color
choice. go thru the next large bead..add 4 11o's.. go thru next large
bead.. . continue this to end of necklace . go thru bead tip and turn arcund
bead..  and 1stlarge bead.
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6. nowyou add 4 110's and go thru the next large bead. . but... malke sure you
line you new row up to go between the two rows of the contrasting color... that
wiay yol will have 4 rows of beads with each row a constrasting color.

FMOTE: Youneed to keep your tension wery very loose when doing the above
steps | otherwise you will end up with kinks!. .. another way to do this would be
to cut 4 lengths of thread. . tie them together with a large knot to be hidden in
a beadtip... then string each row on a seperate thread and tie a knot on the
other end to be hidden in a beadtip.



